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gt | g | EFE FoLE | 5 |BRER BT mE E] B [B] BE |[E] BE
1 4 |FKIL BE YSMC A /N5 43.100 | 3] 11.650 [ 12 9.250 | 8 | 11.250 | 7 | 10.950
2 |RirHE & YSMC A /5| 43.850 | 2| 11.750 | 14| 9.200 | 4 | 11.550 | 3 | 11.350
7 |FEE BiEME YSMC A /N5| 42.400 | 7 | 11.000 | 6 9.400 | 15| 10.950 | 6 | 11.050
8 Mo e YSMC A ] 42.250 | 10| 10.850 | 14| 9.200 | 3 | 11.600 | 12| 10.600
A3 130. 000 34. 400 27. 850 34. 400 33. 350
2 1 [N BE MSC A /5] 45.250 | 1| 12.000 | 6 9.400 | 1 | 12.400 | 2 | 11.450
16 |54 BEA MSC A /N5| 0 40.650 | 7 | 11.000 | 20| 9.000 | 35| 10.200 | 17| 10.450
9 |=i e MSC A /4] 42.000 | 5] 11.050 | 22| 8.950 | 8 | 11.250 | 9 | 10.750
28 |J\H FRi: MSC A /4] 39.400 | 20| 10.500 | 32 ] 8.650 | 40| 9.750 | 15| 10.500
N2 |3 127. 950 34. 050 27. 350 33. 850 32. 700
3 3 |VeRk  Ath SRC /6| 43.250 | 18| 10.550 | 6 9.400 | 2 | 12.000 | 5 [ 11.300
5 kW & SRC /85| 42.700 | 16| 10.600 | 4 9.450 | 6 | 11.300 | 3 | 11.350
25 |HJ)Il FER SRC /] 39.700 | 25| 10.300 | 22| 8.950 | 10| 11.100 | 36| 9.350
SRC ——— ——— ——— ——— ———
N3 125. 650 31. 450 27. 800 34. 400 32. 000
4 6 |/ EREA R 2=7 A [/6] 42.650 [ 4 | 11.200 | 3 9.500 | 29| 10.450 | 1 [ 11.500
WT B BRY2=T A |/6 ——— - - - -
10 A Fo& R 2=7A |/N5| 41.850 | 5 | 11.050 | 18| 9.050 | 12| 11.050 | 10| 10.700
19 |&Efls Al R 2=7A |/h5] 40.400 | 10| 10.850 | 22| 8.950 | 23| 10.600 | 25| 10.000
N2 |3 124. 900 33. 100 27.500 32. 100 32. 200
5 12 (Bt B4 V3 A FERER /6] 41.000 [ 121 10.800 | 18] 9.050 [ 12| 11.050 | 21 10.100
15 | Z=R ¥ a A AR /6| 40.700 | 15| 10.650 [ 10| 9.300 | 37| 10.150 [ 12| 10.600
24 B & ¥ a A FEREJR /] 39.850 | 23] 10.350 | 17| 9.100 | 30| 10.350 | 22| 10.050
21 |BRE PR ¥ 3 A KRR /5] 40.050 | 26 | 10.200 | 30| 8.750 | 31| 10.250 | 8 | 10.850
A3 122. 450 31. 800 27. 450 31. 650 31. 550
6 11 ok 53K R 2=7B [/’5] 41.150 [ 16| 10.600 | 2 9.550 [ 28 | 10.500 | 15| 10.500
23 |BIR FvE RS2 =7B |/~5| 39.900 | 33| 10.000 | 1 9.700 | 39| 9.950 | 19| 10.250
13 |®BF &1 R 2=7B [/5] 40.950 | 9 | 10.900 | 6 9.400 | 21| 10.650 | 25| 10.000
BRY2=7B ——— ——— e ——— ———
~NZ k3 122. 000 31. 500 28. 650 31. 100 30. 750
7 31 [#eiE A YSMC B /6] 39.300 [ 37] 9.950 [ 20 9.000 [ 17| 10.700 | 33| 9.650
22 &M LA YSMC B /4| 40.000 | 21| 10.400 | 36| 8.500 | 25| 10.550 | 14| 10.550
39 [[E 4R YSMC B /N3] 37.650 | 42| 9.550 | 37| 8.400 | 31| 10.250 | 35| 9.450
YSMC B ——— ——— ——— ——— ———
A3 116. 950 29. 900 25. 900 31.500 29. 650
8 MSC B E—— —— Ep—— —— S ——
3B |HFE L MSC B /85| 38.400 [ 38| 9.850 | 31| 8.700 | 17| 10.700 | 39| 9.150
37 [l A MSC B /85| 38.200 [ 40| 9.700 | 39| 8.150 | 14| 11.000 | 36| 9.350
42 (B 1B MSC B /4] 35.800 [ 39] 9.750 | 40| 8.050 | 35| 10.200 | 43| 7.800
N3 112. 400 29. 300 24. 900 31. 900 26. 300
9 43 | 23K MSC C /5] 34.650 [ 43| 8.850 |42 7.400 [ 41| 9.650 [ 40| 8.750
28 | K& Wb MSC C /N3] 39.400 | 31] 10.050 | 29| 8.800 | 17| 10.700 | 31| 9.850
38 |mEMD K MSC C /N3] 38.050 | 21| 10.400 | 26| 8.900 | 31| 10.250 | 41| 8.500
MSC C ——— ——— ——— ——— ———
A3 112. 100 29. 300 25. 100 30. 600 27. 100




F310 HENEBD1=7HAEBRPEFEKRE (R1.9. 14~16)
BF INFHE EFE
BAKRE
BE 2| H5F 5 EED HAFE B 5 &% &
IEfL [EF 4 F—L% F &5t | B2 (]| B8 (]| &8 (]| &8
1 [/hErEE B MSC A /55| 45.250 | 1 [ 12.000 | 6 [ 9.400 | 1 | 12.400 | 2 | 11.450
2 |RKitH B YSMC A |/’5| 43.850 | 2| 11.750 [ 14| 9.200 | 4 | 11.550 | 3 | 11.350
3 |WeRE Atk SRC /N6 43.250 | 18| 10.550 | 6 9.400 | 2 | 12.000 | 5 | 11.300
4 [FKiL B YSMC A |/N5| 43.100 | 3| 11.650 [ 12] 9.250 | 8 | 11.250 | 7 | 10.950
5 kW& SRC /55l 42.700 | 16| 10.600 | 4 | 9.450 | 6 | 11.300 | 3 | 11.350
6 [/ i B o =7 A [/6] 42.650 | 4 | 11.200 | 3 9.500 | 29| 10.450 | 1 | 11.500
TR LM YSMC A |/N5| 42.400 | 7 | 11.000 | 6 | 9.400 | 15| 10.950 | 6 | 11.050
8 |fEr  pnie YSMC A |/M] 42.250 [ 10] 10.850 [ 14| 9.200 | 3 | 11.600 | 12| 10.600
9 =1 & MSC A sl 42.000 | 5 | 11.050 | 22| 8.950 | 8 | 11.250 | 9 | 10.750
10 [{TkE Fnig FEH 2 =7 A [/h5| 41.850 | 5 [ 11.050 | 18| 9.050 | 12| 11.050 | 10| 10.700
11 |t S R =2 =7 B [/hs| 41.150 [ 16| 10.600 | 2 9.550 [ 28] 10.500 | 15| 10.500
12 |t B4 a AR [/h6| 41.000 | 12| 10.800 | 18| 9.050 | 12| 11.050 | 21| 10.100
13 [EF #{ SR 2 =7 B |/h5| 40.950 | 9 | 10.900 | 6 9.400 | 21| 10.650 | 25| 10.000
14 i\ EM NRFE 4 —Tr /55| 40.800 | 18| 10.550 | 33| 8.600 | 6 | 11.300 | 18| 10.350
15 [ Z=Q Do A FHBE (/6| 40.700 | 15| 10.650 | 10| 9.300 | 37| 10.150 | 12| 10.600
16 [ 184 aF IMEL /N6 40.650 | 23] 10.350 [ 22| 8.950 [ 17| 10.700 | 11| 10.650
16 |53 BEA MSC A /N5l 40.650 | 7 | 11.000 [ 20| 9.000 | 35| 10.200 | 17| 10. 450
18 [T A% WEEOSB /4] 40.550 | 12] 10.800 | 4 9.450 | 31| 10.250 | 22| 10.050
19 |dbAr E£& EH5n /NG| 40.400 | 14| 10.750 | 14| 9.200 | 25| 10.550 | 28 9.900
19 |E# AL FER o =7 A |/h5| 40.400 | 10| 10.850 | 22 8.950 | 23| 10.600 | 25| 10. 000
21 |8kE s CaA R [/ 40.050 |26 10.200 [ 30| 8.750 | 31| 10.250 | 8 | 10.850
22 |'ZHW Ay YSMC B /| 40,000 | 21| 10.400 | 36| 8.500 | 25| 10.550 | 14| 10.550
23 "B e FER 2 =7 B /5] 39.900 | 33| 10.000 | 1 9.700 | 39| 9.950 [ 19| 10.250
24 || &5 Va AR |/ 39.850 | 23| 10.350 | 17| 9.100 [ 30| 10.350 | 22| 10.050
25 [HJI FR SRC /4l 39.700 | 25| 10.300 | 22| 8.950 | 10| 11.100 | 36| 9.350
26 |/NR BEFA TaAFEBE /6l 39.550 | 41| 9.650 | 12| 9.250 [ 23] 10.600 | 22| 10.050
27 =y = Ca R [/l 39.500 | 31| 10.050 | 33| 8.600 | 16| 10.900 | 27| 9.950
28 |J\H FEAE MSC A /6| 39.400 | 20| 10.500 | 32| 8.650 | 40| 9.750 | 15| 10.500
28 | K& Bt MSC C /53 39.400 | 31| 10.050 | 29| 8.800 | 17| 10.700 [ 31| 9.850
28 |EA ik I IMEESL /| 39.400 | 27| 10.150 [ 26| 8.900 | 25| 10.550 | 32| 9.800
31 |#EmE  EEKEA YSMC B /56 39.300 [ 37 9.950 |20 9.000 | 17] 10.700 [ 33] 9.650
32 |@AK Wk NF4—Tr /N6 38.750 | 33 10.000 | 41| 7.950 | 21| 10.650 | 20| 10.150
33 |FEiE R FLIPYH |[/3] 38.650 [ 28] 10.100 | 10| 9.300 | 42| 9.350 | 28 | 9.900
34 |fiE E K HTh /N6 38.550 | 28| 10.100 | 28| 8.850 | 38| 10.000 | 34| 9.600
S e MSC B /55| 38.400 | 38| 9.850 | 31| 8.700 | 17| 10.700 [ 39| 9.150
36 [Frp K BENSC /86 38.300 | 33[ 10.000 | 35| 8.550 5[ 11.350 | 42| 8.400
37 [ 2Rk MSC B /5l 38.200 | 40f 9.700 | 39| 8.150 | 14| 11.000 | 36| 9.350
38 |MEMN dEXR MSC C /N3 38.050 | 21| 10.400 | 26| 8.900 | 31| 10.250 | 41| 8.500
39 [Wra 2R YSMC B /N3 37.650 | 42| 9.550 | 37| 8.400 | 31| 10.250 | 35| 9.450
40 |JEH  EK KH ) /85| 37.550 | 33| 10.000 | 38| 8.350 | 43] 9.300 | 28] 9.900
41 [&Sr B —EG - C /N[ 37150 | 28] 10.100 | 43[ 6.650 | 10] 11.100 [ 38| 9.300
42 |=Y B MSC B /| 35.800 | 39| 9.750 | 40| 8.050 | 35| 10.200 | 43| 7.800
43 | zelk MSC C /5| 34.650 | 43| 8.850 | 42| 7.400 | 41| 9.650 | 40| 8.750
A S BERY 2 =T A /6] ——— — — — —




%£31H HRNRSA=7HBBHRTEAS (R1.9. 14~16)
BF MREE EFHE

EBA
[N HAFE B B % &

I i EF4H F—LZ F KBRA I fi2 EFH F—LH & #B=a JE 2 EFH F—LH & B B L EFH F—LE & B
1 NP BEE OMSC A /5 12.000 1 TR O BRI o=7 /5 9.700 1 NI BEE OMSC A /5 12.400 1 Y E R = =7 /6 11500
2 JITH & YSMC A /N5 11.750 2 FHE ZEFR BRYa=7 /5 9.550 2 Ve At SRC /N6 12.000 2 NP BE OMSC A /N5 11,450
3 il YSMC A /5 11.650 3 IS B BRI =7 /6 9.500 3 iy gﬁm‘% YSMC A /M 11.600 3 KHE IR SRC /N5 11,350
4 A EREH BRI =7 /N6 11.200 4 kHO#® SRC /N5 9.450 4 KITH B YSMC A /5 11.550 3 KITH & YSMC A /N5 11.350
5 R e MSC. A /b4 11,050 4 AR A% W E S E /. 9.450 5 Rl MK A EVSC . /6 11.350 5 Vepg At _SRC /6 11.300
5 WA RE RS =7 /N5 11.050 6 FER AT BRI =7 /N5 9.400 6 KH R SRC /N5 11,300 6 R BiME YSMC A /5 11.050
7 A BA S MSC A /b5 11.000 6 PR BE OMSC A /5 9.400 6 A IEm NF4—J r /N5 11,300 7 il I YSMC A /h5 10.950
7 R BiME  YSMC A /b5 11.000 6 Vg Ath SRC /N6 9. 400 8 il 1 YSMC A /5 11.250 8 Rt = A FEEYUR /N5 10.850
9 EH OB #RYa=7 /5 10.900 6 HElE HiME Y SMC A /5 9.400 8 I %t MSC A /M 11.250 9 = e MSC A /M 10,750
10 e A BRY a2 =7 /5 10.850 10 R BE  FL 1 PYEEE /NS 9.300 10 PR __SRC /M 11,100 10 WA fn#  EBRY = =7 /5 10.700
10 o fi#E  YSMC A /M 10.850 10 Miah 72l ¥ a A MR /6 9.300 10 B3 Bk =G+ C  /h5 o 11.100 11 WA &4 = IWEEL /6 10,650
12 M ARG M ENH B /M 10.800 12 NRCOBRED Y a A MBI /e 9. 250 12 At g R 2 =7 /5 11.050 12 ML Z2f 3 A R /N6 10. 600
12 O =4 U a AFEUR /N6 10.800 12 I i YSMC A /N5 9.250 12 g R4 T a A HEER /6 11,050 12 WA M YSMC A /M 10.600
14 Ik =& LoHn /N6 10. 750 14 ek =EH bW /N6 9. 200 14 IWE k¥ MSC B /5 11.000 14 W LA YSMC B /M 10.550
15 Wi ZER ¥ a A AR /16 10. 650 14 KiTH B YSMC A /b5 9.200 15 SR FEME Y SMC A /5 10.950 15 B MSC. A __/h4__10.500
16 KH SRC /N5 10. 600 14 O MiE  YSMC A /M 9.200 16 O Y a A FHEEE /N6 10. 900 15 Wi S ERY =7 /15 10.500
16 JTE B R =2=7 /5 10.600 17 R ERS T a A B M 9,100 17 FHE L MSC B /5 10.700 17 A9 BA S MSC A /5 10.450
18 hE ER NF4—Jr /N5 10,550 18 A g R 2=7 ./h5  9.050 17 K& Bk MSC C /3 10.700 18 (A ER NF 4 —7Jr /N5 10,350
18 Vel At SRC /6 10. 550 18 i B4 Y a A FEE /6 9.050 17 YA &Aoo JMEE4 /6 10,700 19 WEOMME R o =7 /N5 10.250
20 J\H i MSC A /4 10.500 20 fEiE KB Y SMC B /6 9.000 17 & A _YSMC B /6 _10.700 20 BA M T 4 — 1 r /6 10.150
21 BERD X MSC  C /b3 10.400 20 LH AN MSC A /N5 9,000 21 WA KA N7 =T /16 10650 21 g BAE S U a A MR /e 10. 100
21 W {iA Y SMC B /M 10.400 22 L AR SRC /N 8.950 21 BR OB ERY=2=7 /5 10.650 22 WMTF s W& FE /M 10.050
23 WA KT o IWEE4 N6 10.350 22 —IF e MSC A /4 8.950 23 NRCOBEIT U a A FERUE /N6 10. 600 22 NRCOBRIA Y a A ARFEJE /N6 10. 050
23 RIS U a A MR /10,350 22 WA &A= JWEE4L /6 8.950 23 G B BRY =7 /5 10.600 22 B IKIS ¥ a A AR /M 10. 050
25 I HEK  SRC /4 10.300 22 s A R a =7 /N5 8.950 25 At =R EH0 /N6 10. 550 25 BRI BT Ry =7 /5 10.000
26 s PR P A ARBRJE /s 10. 200 26 BERD X MSC C /b3 8.900 25 HA OB = IilEESL D4 100550 25 G B B o =7 /5 10.000
27 BA i = MRS MM 100150 26 BA R 2 EEA M 8.900 25 ZH fifi  YSMC B /M 10.550 27 = ¥ a A BB /6 9.950
28 TRk R FL I P& /3 10.100 28 )N < 52 I 3 Fe) /N6 8.850 28 g ZEE R o =7 /5 10.500 28 g FL I P& /N3 9.900
28 B Bk  TEG-C /5 10.100 29 KE Bk MSC C /h3 8.800 29 NS B RV 2 =7 /6 10.450 28 ek =& &b /N6 9.900
28 MR AR KW /N6 10.100 30 fE IR ¥ 3 A AEREE /NS 8. 750 30 iR Y3 AARRE /10,350 28 b N, ) /N5 9,900
31 K& B MSC C /1’3 10.050 31 FE LT MSC B /h5 0 8.700 31 iRk PRHL = A AR /NS 10. 250 31 K& Bk MSC C /3 9.850
31 Eh E U a A M /N6 10. 050 32 J\H Z¥ MSC A /4 8.650 31 BERD #EAX  MSC C /3 10.250 32 HA OB o MEEL M 9.800
33 TR WH ST 4—Jr /6 10.000 33 E ER ST 4—Jr /N5 8.600 31 R &G WEE Y& /M 10250 33 & BEAKB] YSMC B /6 9.650
33 HROME R ==7 /5 10.000 33 B 2 a A M /N6 8. 600 31 IO AN YSMC B /;3  10.250 34 fE EE kW /N6 9. 600
33 L Y N ) /N6 10. 000 35 P M A XD SC /6 8.550 35 A Hf;/\ MSC A /15 10.200 35 a2 YSMC B /3 9.450
33 farEs AN A EDSC /N6 10.000 36 ZH fhifir YSMC B /M 8.500 35 LK MSC B /M 10.200 36 B AR SRC /9. 350
37 EE ERE YSMC B /6 9.950 37 A R YSMC B /3 8.400 37 Wi Ze B / 3 A FRFEJR /N6 10. 150 36 (i 2k MSC B /N5 9.350
38 FHE L= MSC B /5 9.850 38 HOBRK CKkHEI) /N5 8.350 38 fE A Ckm /N6 10. 000 38 B Bk TEG-C /N5 9.300
39 S BFE MSC B /M 9.750 39 UM 2k MSC B /5 8.150 39 R OHME  EBRYo=7 /5 9.950 39 A L= MSC B /5 9.150
40 IWH &P MSC B /5 9.700 40 2% (H¥.__MSC_ B/ 8050 40 JAH i MSC A /4 9.750 40 Tl Zef&  MSC_C /5 8750
41 NRCOBRED Y a A AR /6 9.650 41 T WA T a—Jr /6 7.950 41 Ik ZEk MSC C /b 9.650 41 BERD #EAX MSC C /N3 8.500
42 N RS /N YSMC B /I3 9.550 42 TR ZEf& MSC C /5 7.400 42 g BR FL I P& /N3 9.350 42 FifEs K A2EVSC /6 8.400
43 HiE ZEfk MSC C /5 8.850 43 B ik “EG-C /5 6.650 43 EHOBRK KkHEIY /N5 9,300 43 258 B MSC B /4 7.800

LN BT BE @HAY2=7 .6 BF BE BRY2=7 16 BE BE BRY2=7 .6



F310 HFENBE1ZT7HERIEHRBEFIERSE (R1.9.14~16)
BF IIhNF4E EFHE
2EJAOvHIU—12KEFES

“we P H HAE D) B 5 FITHE % 1

JIIE 432 EFA F—L% B|] &5 |E| &= Bga |BE|] B85 |IB| B2 |IB| B
1 [/hNBFE BE| MSC A 1] 12.000 | 5] 11.000 10.450 | 1] 12.400 | 6 | 10.700 | 2 | 11.450
2 | KitH B | YSMC A 2 11.750 | 9 | 10.400 | 4 | 10.700 | 4 | 11.550 | 4 | 10.900 | 3 | 11.350
3 | &R Atk SRC 10 10.550 | 1| 11.450 | 6 | 10.300 | 2 | 12.000 | 3 | 11.000 | 5 | 11.300
4 | Ry i JERRLY 2 =T A 41 11.200 | 7 | 10.800 | 1 | 11.200 | 10| 10.450 | 1 | 11.200 | 1 | 11.500
5 il B | YSMC A 3] 11.650 | 11 ] 10.250 | 2 | 10.950 | 6 | 11.250 | 2 | 11.050 | 7 | 10.950
6 | FEF EME [ YSMC A 51 11.000 | 8 | 10.700 | 3 | 10.750 | 8 | 10.950 | 6 | 10.700 | 6 | 11.050
7 KH SRC 9 [ 10.600 | 2 | 11.200 | 9 9.400 | 5 | 11.300 | 9 | 10.300 | 3 | 11.350
8 | i 1BA | ¥ a A R 71 10.800 | 3| 11.100 | 7 | 10.250 | 7 | 11.050 | 5 | 10.750 | 11| 10.100
9 | O JiEE | YSMC A 6 | 10.850 | 10| 10.350 | 10| 9.200 | 3 | 11.600 | 10| 10.150 | 9 | 10.600
10 | IR f&q | a2 - IEEs 11| 10.350 | 6 | 10.900 | 8 [ 10.000 [ 9 | 10.700 | 11| 9.900 [ 8 | 10.650
11| #i ZzEg | 2 a A FERR 8 ] 10.650 | 4 | 11.050 | 11] 8.850 | 11| 10.150 | 8 | 10.400 | 9 | 10.600




